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QUESTION 1

See the following two screenshots; note how they are different based on the value of Marital Status. What underlying
rule can be used to implement this user experience behavior?

A. Declare Expression

B. Decision Tree
C. When rule
D. Decision Table

Correct Answer: D

QUESTION 2

Which Clipboard page contains information about the application currently in use? (Choose One)
A. pxRequestor

B. pyWorkPage

C. pxThread

D. pxProcess

Correct Answer: C
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QUESTION 3

Class design best practices dictate that a class group should directly or indirectly inherit from which class? (Choose
One)

A. Work-Obiject-
B. @baseclass

C. Work-

D. Work-Cover

E. Work-Folder

Correct Answer: C

QUESTION 4

Which of the following are FALSE about classes in PRPC? (Choose Two)

A. Classes represent the applicability of rules

B. Rules can only be inherited from a class designated as a prerequisite class

C. Classes play a key role in determining where instances are stored

D. Classes can be versioned using a set of three two-digit numbers, such as 01-05-17

Correct Answer: BD

QUESTION 5
Which of the following configurations can be used to resolve a work item? (Choose One)
A. Set the work item status to a value beginning with "Resolved-" on the last assignment in the flow

B. Use a utility shape in the flow to call the UpdateStatus activity to set the work item status to a value beginning with
"Resolved-"

C. Configuration is not necessary, as the work item is automatically resolved when it reaches any end shape
D. Use a decision rule to set the work item status

Correct Answer: B
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